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Note : Section ‘A’, containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

Answer the following very short answer type

questions in one or two sentences. 2x10=20
. n +5
%. 1. Write first two terms of @, = 7 1
2. Convert the following angle in radian measurement :
75°.

3. Find the coefficient of x5 in (x + 3)%
4. Find the distance between two parallel lines 15x + 8y

—34 =0 and 15x + 8 + 31 = 0.
PTO.
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Write the value of 4 (major axis) and 5 (minor axis)
for hyperbola 9x2 — 4,2 = 3¢,
Find mode of the following :

10, 13, 17, 12, 11, 13, 18, 19, 13.
Find median of the following :

20, 25, 33, 21, 19, 23, 29.

Find mean of the terms : 25, 12, 45, 22.

. Define Identity matrix.

2 4
Find the value of |~1 3 0.

4 1 0

Section ‘B’

Answer the following short answer lype questions
with word limit 150-200. 4x5=20

Find partial fraction of -
x" -4

Or

Find the value of g, b, ¢, 4 from the following equa-

2a+b a-2b B 4 -3
Sc—d 4c+3d| |11 24)
XV _ eV

If —5, 5, =sina, then find the value of y.
e +e Y

tion :

(2]
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4. Prove that the points (1, 5), (3, 9) and (5, 13) are
collinear.

Or
Find foci and eccentricity of the hyperbola
49% — 16x2 = 784,

5. The mean of 4, 7,2, 8, 6 and 9 is 7. Find mean
deviation about median of these observations.

Or

Find mean and standard deviation for the following
frequency distribution -
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Or
Show that : log(i]:l—l—lz—+l—%—ii+....
3/ 3 237 338 43¢
. Show that SnSx + sin3x = tan 4x.
CoSSx +cos3x
Or

In AABC if a = 18, b = 24, ¢ = 30, find cos 4 and

cos B.

- Find the equation of line parallel to the line 3x - dy
+ 2 = 0 and passing through (- 2, 3).

Or

Find the focus of the parabola y = x2 — 2x + 3.

. The mean of the 5 numbers is 27. If one of the number

is excluded, the mean becomes 25. Determine

excluded number.
Or

Find the median salary of the following salaries of the
workers in Rs. :
56, 89, 121, 38, 98, 70, 70, 72.
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Section ‘C’

Answer the following long answer type questions
with word limit 300-350. 8x5=40

. Three numbers are in A.P., their sum is 15. If 1, 3, 9
be added to them they form a G.P. Find the numbers.

Or

Divide 24 into 4 parts which are in A.P,, such that the
sum of their squares is 164,

. By principle of Mathematical Induction, show that
327¥2 _ 8y — 9 is divisible by 8.

Or

If the coefficients of 3 consecutive terms in the

expansion of (1 + x)” are in ratio 1 : 7 : 42, find n.
. If cosB+sinb= ﬁ.cose, show that
c0s8 —sinb = \/E.sin 0.

Or

| +sinB 1-sin®
+
Vi-sin® V1+sin®

=2secH.
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